g ~
AMS Euler vESX At —
opt A

3 3
JO 9X2+2X+4dX:3X3+X2+4X+C]O:]OZ ¢ (£+H/\7_) azf/ deT-: P(M)j(Q/T)
LTOAN=R - a¢az (2’“)//’ >K
et W =¢X(cosy F isiny) L 1
dF = —<CDIJI|4‘P2> [wdz +b gj /\d'ﬁ}
| —b + vbZ —4ac (2ﬂ) ‘
T 2a
3377 11110
/'/‘_"H\’“P(acose b sin 6) X = —b = \/bz — #4at
ﬁ AT 11N N1'u3l = 7
A’ Al WA | O'J1A1 N1 JIT1D] I
0] X
\/ ~'1 991 (3"N" 4) APUNANN
S T
8 .11,220 'NV, 481 -—
104.45°
A x:—bi\/b2—4ac
N e
IS, b R in
lY L '
t i
1,\1' jf(x)dx 0.9584 A
S S " 113 7Y 7Y N3YI TIXHN :

1Y OXIMPNR DITIND NIPOIND MMNNY MNDIN DD



INWT

x>0 oOmna {(X)= x+§ 8PN N (8
ANOYNNPINN A .y = —%x IV PN

YOPNVY T2 PNIN N DY NTIPY B-Y 1(X) 18PN

Xg=Xo ,Xpa=X :)20) .X-N VXD 22pn AB

X MYSNND X, DX YIN N

AB YOPN NMIY A DTIPIN NV NN NN .2
O33N TN DY NI

AB YOPD DV DD NN TIIND NN RN )

8.7M]| 220 'NV | 481



X DYNNND Xy DN VAN LN

11110
- 4 X >0
X)= X+
YA X X- PND O1pn AB
1 (x,x/-lfé)
Cﬂ»“sz) B A o6
——Xg=x+—-— /- (—
X 1 2 0 X / ( )
y=-3X
12
Xo = —2x—7

8.7M]| 220 'NV | 481



I2OPN TN DY NN AB YOPN NMIAY A DTIPIN MNMVY NN R8N .2

1mins

12

YA ) dAB = x—| -2x — —
(c2x—2 218 B \A(})A? §
X X 12
= =x+2x +—

X

dsp = 3 +12
AB — 29X x

8.7M]| 220 'NV | 481



I2OPN TN DY NN AB YOPN NMIAY A DTIPIN MNMVY NN R8N .2

1mins

12 X >0
YA dAB:3x+_

X
i
Al 2 2 QA(}’C Y DANY AU YDA TIN HIEDND NN I
X X

18P TV NISIY >15

g
X

! 12_
CL4B —_ 3 _';EZ'—-()

8.7M]| 220 'NV | 481



I2OPN TN DY NN AB YOPN NMIAY A DTIPIN MNMVY NN R8N .2

12 6. p
(—2x ——,x +—
X X

oo

1

g
X

1mins

X =2

8.7M]| 220 'NV | 481



SN TN DYA XD AB YyOopn NNy A DTIPIN NV NN KNN3

1mins

12 X >0
YA dAB:3x+_

6 X
(—Zx—g,x+§ - \A(}x4;)
X X \ x=1 X = 2 x = 3
X

6 dAB — 15 dAB — 12 dAB — 13

(2.5) T oo —
(2,5) N0 991990 79X Y¥a X7 AB y091 D9ayW A 9930 19U

8.7M]| 220 'NV | 481




AB YOPN DV ODDPNN TIRD NX RNND )

1mins

12
YA dAB = 3x +—

X
J/
X X

dAB — 15 dAB =12 dAB — 13

\ 0NN /
TN TN 12 N0 AB 09N HY 991999190 79NN

8.7M]| 220 'NV | 481




AN






